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GRADE 12 ESSENTIAL | Name:
WEEK 8 QUIZ 24-05-23 e
OPEN BOOK; Take-Home.

Round all decimal amounts to the nearest 0.01 uniess otherwise
indicated (standard).
Show work, show method. Generally, just stafing an answer gets zero
marks. Part marks possible

Time Limit: Due: Monday 10:00; absclutely no later than
Collaborate with other students if you want! Late Penalty Applies

It is possible to get up to 150% on this quiz if you try the Bonus
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Make sure your cheat sheet is up to snuff!
Could be up fo an extra 5% of course mark |
perfect
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Cheat Sheet Marking Rubric
As discussed weekly since September!

Weight Factor

item
of item

Covers each unit studied 20%
Lists forinulae used for each unit, sormewith example usage

{not necessary to write out Unit Conversions, or Geometric Shapes formulae 20%
such as cones, prismas, Do not copy cut Loan Tables, et¢)

Uses diagrams where appropriate, graphic organizers, etc. Plcrures are wortha
1,000words

200%

s accurate and corpect 20%

is neat and readable 20%



1. Determine the measure of

A
length a.
/

£ GA%
bl+ - dbc-cosA /&M;g; Y
Rt 44.:).5—9,? 15 cosl6D) = w/ \
o2 - e—Q
‘H odlt.-. b
o s 2667 B
124752 -2 475 cos(62) el
«Label Diagram
= 440817062 ) «Select Formuia
z =] .Wri;e‘ Down Formuia
Vv 11.0817062328 “PluG i NiFbers
== 6{}39403 3{; .Check

e S AR U e

Trigoaometry Cosine Law:
Cosine Law for side a across from angle A: a® = b% + ¢% - 2*b*c*cos(A}; etc

2. Determine the measure of

side b. Two angies an a side:

SINE (AW
angle & Side pairs

L c
4 b .c
o scnid scnC
‘ d
/s culiotys P ~ b.e
: b i G &
é e s "(ms) Sinos) 7 5in03E)

scn(3s )

Q‘W | 0‘ "l“{'D TLQR .Label Diagram &:/

+»Select Formuia
«Write Down Formula &

it

{sm lﬂ}} ; : +Plug in Numbers
; uncts . .Solve ¥
sin(35) ¢ unclS. e

= 14,4410



WS Show tun-h2
3. Statistics. Determine the mean, meé&an afzé mode of the data set.
{4 marks)

£x 3603

M&&n,fx‘": n = ? - {i;f . ’?’*g
Median, %,= ¢ 3 3 T ), ot
@-_ '.__""% gm, *, o] %, R 3 $ clewment

Mode = O iy €he mast ‘Pl"t%uCnt
Range = Xmaa--xm:.h = 13-"" ;@

BYATIETICE

- Ty . e,
Mean. X = = sum up &fl tne data and divide by the data set size, n k 4 -&
{xyswf g xp wlatxzwias+e} 5t 25
Weighted Mean: Lxy iy Z fats f3 . Lt & ‘ ,
s iv S sheet

fEadian, ¥. Lane datg up m ascending order, find the data value 4t the middie place
rddle place = " ~. Eg n=17 data » midals place is the 9% place. Witk 20 data -+
place i the mean between the 199 and 117 place. value in 10 and a ‘halfth’ place.

4, Statistics- Percentile Rank. Josh was writing a qualification exam for
a desirable government job. He got 45 marks out of a possible 78 marks
on the exam. 345 applicants wrote the exam, 288 got a worse exam score
than Josh, and six others had the same score as Josh.

a. Determine Josh's mark on the qualification exam as a percent.
b. Determine Josh' Percentile Rank on the examination.

¢. Explain (using proper grammar) whether you think the exam was
likely easy or difficuit.

_ ., 5 ?—toq-
0&\ ‘*g/}%ﬁ)%o . X - 53}ey S 5%, éd’ 70
L) PR= B-}-N/; (i) > 100 = El%%% :; Vol q-}] ;{}07\ (%5)

Tt

C) Josh had a fa;rfy fow mark on the exam, but 85% of student were the same or worse
than him, so the exam must have been pretty difficuit! Josh was in the top 15% of
those who wrote, despite the poor exam mark.

Parcentile Rank PR = -—-;—3‘— 100 round up!, where Bis the numbe: of stares &elaw

pumner equal and N is the otal number, ad ch P.ﬁ. 5 L ee 1'_-
‘Percentites and Quartie Ranks. Prsw Q) s,zm QA = ;ang Pﬂ = Qs

E—— P — PR PR |

s nga



5. Problem Soive — Use a Table — Follow a Pattern. A frogis on a lily
pad, it eats one fly on the first lily pad. it hops to a second lily pad and
eats three more flies than eaten on the first lily pad, then it jumps to a
third lily pad and eats three more than the previous lily pad, and so on,
so that at every lily pad it eats thrfze more flies than the previous lily pad.

Complete the table: fﬁ ?@% %>

LilyPad|1 _[2 I3 RE 1 [% 9 [io P
Flies |[1%3[4 *7% m T ié 19 TaaTas 38 |

e
Total |1 [54{12%94 |2z [( o laa | Ly
Eaten Lr > @ i il N

State the answers to the following: {1 mark each)

a. How many flies total will the frog.haye eaten when he has eaten the
flies on the 8" lily pad? Answer: A

4
b. On which fily pad will it have eaten its{50" fly] Answer: L4 i}*} P‘”“i

Eollow the patiern
Step-by-step

6. Probability. The probability of a dog successfully performing a trick is
75%. Determine the odds against the dog performing the trick
successfully.

) a‘P au{‘(ﬁmas that ave Sucrass H,f 51%511‘,,
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C;_p QM ?_) ) Just like in sports betting, if it is

a sure thing it wilinot have a

good payout!
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7. Probability. A bag contains 4 Green
marbles and 8 Red marbles. Determine the
probability of drawing a Red Marble.

[Prob{ Draw Red)]. Express the answer as a
reduced fraction and as a %.
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MORE BONUS QUESTIONS
{Try them! s possible to get 150% on this quiz}

BONUS: Euclidian Geomelry {1 mark each)
- C
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Bonus: (1 Mark) Shots wov fo

Determine the sum of the counting numbers from 1 to 38

Sgategy: Easy to find the sum from 1 to 40, then just subtract the 40!
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,, : Pairing up the 'bookends’, how many pairs?

( " 20 * 4] = %30
£the humbhers Lo am
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?%%%@%%"%ﬁg Several other logical solutions
Se+I7r+ o @j have also been demonsirated

Bonus. Conversion (2 Marks)

Convert two weeks into seconds, 2wk = sec

s e S

l‘f\!,xiu . GU P 60 sec
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- ] 5 A0Y jGOU Sec One million, two hundred nine N
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@_g}ﬁg a ?9553?&?‘}{2 Marks) The formula to convert degrees Celsius [°C]
to the Americaraggrees Fahrenheit [°F] is given by the formula:
11
OF w Zu 4 + 32; gack i Grade
5 ! '

Convert 25 degrees Celsius { 25°C ) into degrees Fahrenheit °F:

?f‘.
2500&“}
of= U ‘2% + 33
€ - & s 2 L e s 0..
F= Vet ds #3207 ¥5473 -@

b 6
Bonus - Using a Formula. The [Pre-Calculus] formula to count the total
number of flies eaten in the question above is given by:

S, =3[2a; + (n~1) =d], where Sais the total sum of flies eaten, a is

the number of flies on the first lily pad, n is the number of the lily pad, and d

is the amount by which each successive lily pad's fly count increases; d = 3 _
in this case This ic Grade 11 stuff if you ever do the Pre-Caloudus or the Pure’ Math as

they cail it in other provinces, But Exsentis Malh stutlerts know how to
o | Dindiy plug into & formiia!
in our case: §, mg*{Z*ié{nmi} «3] .

evaluate that formula (plug-in) for n = 15 to calculate how many flies were
eaten total [ Sn ] after the 157 lily pad. [2 marks]

After 15 Lilly pads the frog has eaten a total sum of 320 fiies)

5,57 B e[ ar) +(15-)3) 7 Rs Lot
= 3730 p’&a&
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Bonus: Determine angie B.

Cosine Law
Since Given 3 sides
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Five nights, with a
long weekend and at-
home-study Friday,
to complete a 60
minutes quiz

Easy 150%
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